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EH2
R D N

1 7.8458 0.8905 1.611

2% 3.2210 1.4716

3* -9.5681 0.8724 1.533

4 4.9183 1.0450

5 -2.8971 1.4952 1.755

6 -3.6810 0.9097

Stop Infinity 0.4997

8 3.0903 2.0462 1.776

9 -2.1003 0.8075 1.855

10 6.1818 0.0481

11* 2.7831 2.0000 1.533

12* -2.8415 1.0000

13 Infinity 0.4000 1.525

14 Infinity 0.2998

15 Infinity 0.4000 1.525

16 Infinity 0.1000

17 Infinity 1.1452

IP Infinity 0.0107
*HAlE HFE

EH3
k A B C D

3" 0.000000 | 0.311299E-01 -420445E-02 | 0.338004E-03 | 0.410497E-04
4> -3.241349 0.466150E-01 0.164510E-02 -.278191E-02 | 0.222625E-02
11" 0.535570 -.180234E-01 -791412E-02 | 0.366024E-02 | -.941069E-03
12* 0.425858 | 0.253470E-01 | 0.162102E-02 | -.654585E-03 0.000000
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